HHE [ME BRXRKR-1]

No.1
BRIRB B FR & B | Z0HE | EEH=E & &
BLKEHMEETL |HPPE(EFZO{t /A ZEE)L=500m $50 ¥ 5
HPPE(E®&) L=5.00m ®50 ¥ 3 thERREL
HiVP  L=4.00m @50 x 1 thERREL
EFRUR (/52) $50 & 2
VEDZEESIS ®50 & 1
AHEEGR)ER) ¢ 50 X 45° & 1
EREERAHNTHEPXV) ¢ 50 x 45° & 1
SKXTILR(BEEEF) ®50%90° & 2 XREEmMULE
SKX4r lE7K# RV /v BEE ) ®50 & 1 XKRIFHLUE
BRI —k W=150S m 37.7 37.7m#§%(35.6+2.1)
HYIHHET 950 | FIRELTIF ®50 £ 2
TEKTFEGHKE REI S @100 x ¢ 50 £ 1
BRCHVTYEERYER) 1>a7 1+ ®50 & 5 XRIFHLULE
toH=E H=600 #A 2
HwKkOBT HRILIFHKE GRUER) $50% ¢20 & 2
ISR aAfok ®20 & 2
HivV 4y ®20 & 2
HiTZJLAR ®20 & 4
HiVP  L=4.0m ®20 x 1 3MER(1.5m x 244)
AR —b W=150S m 2 2mAER(Im x 244%)




FHER [E BRAFR-1]

No.2
BRIRB B FR & B | Z0HE | EEH=E & &

EEKEMZL |[RITFLUOERERT ®50 m 35.6

RUIFLUOERFI (REES) $50 1O0#F | O 5

RUIFLUOERFI (REES) $50 208F | =K 2

RUTFLUEYERT ®50 A 7 thERREL

AN=HIBFT GRYER) ®50 A 3

AN=HILBFIGEEER) $50 A 3

E-LEMET ®50 m 2.1

HERLIAAT @50 O 1

RUTFLUOEMRFT @50 A 5

EHHRI—K m 37.7 37.7m#§%(35.6+2.1)

BKEERT HKERE H 0.02 37.7m/2,000H =0.018H

HYUHRBI G50 |ETIRFEL $50 = 2

UK 5 55 B T (85855 ) 100 x ¢ 50 £ 1

fHERLAAT ®50 A 5

RUTFLUOEMRFT @50 A 5

HEHET H=600 #H 2

BHERE ® 2
wKUET YRILDKEFRELGRUER) $50% 20 & 2

HERLIAAT ®20 A 2

E-—ILEFmHT ®20 m 3 3mER(1.5m x 244)

TSHFT ®20 A 12

EHR—F m 2 2mAER(Im x 244%)




T T # = No.3
£ L BoO® #H B 4 = RETHME
TE =RRXRHR-1 ¢ 50
BLKEHRBRT |HWMEKELT H=600 HrE® 060 m X 0723 m 356 m = 1545 m3 20
HHIERLT TSR valQ) 060 m X 0263 m 356 m = 562 m3 10
BALECSR) = 562 m3 10
HHIERLT FET valQ) 060 m X 0290 m 356 m = 6.19 m3 10
B NET E R E = (km) = 856 m3 10
BERETOSH = 856 m3 10
TERET t=10cm RC-30 060 m X 356 m = 2136 m2 21
TERET t=8cm M-30 060 m X 356 m = 21.36 m?2 21
RAsEHEE T t=3cm FEAL 060 m X 356 m = 2136 m2 21
AEIHASTHET (AAET) t=4cm ok 1 080 m X 356 m = 28.48 m2 28
AstEiZE R UIBT T t=4cm 356 m X 4 % = 14240 m 142
AsTHEEhRBERE T t=4cm 080 m X 356 m = 2848 m2 28
R AsEH = MR B T t=3cm 060 m X 356 m = 2136 m2 21
AsTRZEFREW -0 T E % (km) = 178 m3 2
HBKEMRT |HMWMKET H=600 060 m X 0.686 m 20 m = 082 m3 1
HHIERLT TSR 060 m X 0226 m 20 m = 027 m3 1
BEWIERLT FE+ 060 m X 0290 m 20 m = 0.35 m3 1
RLIAWET = 044 m3 1
TERET t=10cm RC-30 060 m X 20 m = 120 m2 1
FERET t=8cm M-30 060 m X 20 m = 120 m2 1
RAsEHEE T t=3cm FEAL 060 m X 20 m = 120 m2 1
AEIHASTHET (AAET) t=4cm ok 1 080 m X 20 m = 160 m2 2
AsEHIERR UM T t=4cm 200 m X 4 % = 800 m 8
AsTRZEhRBERRE T t=4cm 080 m X 20 m = 160 m2 2
R AsEf 2= IR B T t=3cm 060 m X 20 m = 120 m2 1
AsTRZE R B - 0 T TE k& (km) = 0.10 m3 0.1




HHE [(ME SRXRKR-2]

No.4
BRIRB B FR & B | Z0HE | EEH=E & &
Bo/KEMHZ T |HPPE(EFROftHZEE)L=5.00m ®50 p:N 17
HPPE(E®&) L=5.00m @50 p:N 4
HiVP  L=4.00m ®50 p:N 1
HiVP  L=4.00m ® 40 p:N 4
HiVP  L=4.00m ®25 p:N 1
PVaA Tk ®50 & 1
VEDEESIS ®50 & 2
ANEEGEEER) ¢ 50 x 45° & 2
EREERAHNTHEPXV) & 50 x 45° & 2
ANBTFE (RUER) ®50 & 2
EREERAHNBETFEE(PXV) $50(P)x p40(V)| & 2
MC=#> ®50 & 1
HiTZJLAR 25 & 4
HivV 4y @40 & 2
HivV 4y d40x 25 & 2
BRS—bk W=150S m 126 126m7#A%(109+254+12.5+2.0)
HYHBET 940 | FIREL TS ®40 £ 2
BhLAVry(EEER) ®40 & 4 XREEmMULE
toH=E H=600 #A 2
HEYIHBREI 050 |FIRETTIH ®50 & 3
BRCHVTYEERYER) 1>a7 1+ ®50 & 6 XKRIFHLUE
toH=E H=600 #A 3
HwKkOBT HRILIFHKE GRUER) $50% ¢20 & 7
ISATIAUk ®20 & 7
Hiv 4y ®20 & 7
HiTJLAR ®20 & 14
HiVP  L=4.0m ®20 x 3 8.5mAAER(1.5m X 3¢+ 1m x 444)
BRI —k W=150S m 5 5mE%(1.0m X 344 40.5m X 444)




FHER [E BRKFER-2]

No.5
BRIRB £ K B | Z0HE | EEH=E & &
EEKEMZL |[RITFLUOERERT ®50 m 109
RUIFLUEMFI (BEES) $50 1O0#%F [ O 17
RUTFLUEYERT ®50 A 2
ANZHILBMFIGRIER) $50 A 12
AN=HILBFIGEEEMR) ®50 | 13
E-LERET ®50 m 25
E-LEHRHZT ®40 m 125
E-LERET ®25 m 2
TSH#FET ® 40 A 6
TSHFT 25 m 10
EHRI—K m 126
BKEERT HKERE H 0.06 126m/2,0008 =0.063 8
HURRBI G40 |ETIRFZET ®40 = 2
fHERLAAT ® 40 O 4
RUTFLUOEMRFT ®40 A 4
AEFRET H=600 #A 2
BERE ® 2
HEFHRBI G50 [{TUIRFJ/ETL ®50 # 3
HERLIAAT @50 A 6
RUTFLUOEMRFT ®50 A 6
AEFRET H=600 #A 3
BERE ® 3
wKUET YRILDKEFRELGRUER) $50% 20 & 7
HERLIAAT ®20 A 7
E-—ILEMET ®20 m 85 8.5mATER(1.5m X 34+ 1m X 444)
TSH#FET ®20 A 42
EHR—F m 5 5mTAER(1.0m X 344 +0.5m x 444)




T I H = F No6
£ L BO® # B M = REtE=E
i BRAFRE-2 ¢ 50/ ¢ 40
BlKEMEXT T H=600 MrE® 0.60 0.723 X 4838 m3
BIEQ 0.60 0.708 X = 6.16 m3
= 5453 m3 50
HWIERLT SR ErE® 0.60 0.263 X = 1759 m3
BHIERLT US5R BEQ 0.60 0.248 X = 2.16 m3
= 19.75 m3 20
BALESR) ErE®. @ = 19.75 m3 20
HWIERLT FEL ErE@ 0.60 0.290 X = 19.40 m3
HWIERLT FEL vAe) 060 m 0290 m X = 252 m3
= 2192 m3 20
HLAMET E R E & (km) = 30.17 m3 30
BEREETOSH = 30.17 m3 30
TERET t=10cm RC-30 060 m X 126.0 m = 75.60 m2 76
FERET t=8cm M-30 060 m X 1260 m = 7560 m?2 76
RAsEHET t=3cm FE AT 060 m X 1260 m = 7560 m2 76
AEIBAsTHETL (AAET) t=4cm EHI 080 m X 1260 m = 100.80 m?2 101
AsERZEhR U BT T t=4cm 1260 m X 4 % = 50400 m 504
AsEREEhRBER T t=4cm 080 m X 1260 m = 100.80 m?2 101
RAsEHEE R BT t=3cm 060 m X 1260 m = 7560 m?2 76
AsTREEFRIEN - 5 T 1Z % Z (km) = 6.30 m3 6
HBKERRT (HHEKRET H=600 060 m X 0.686 m = 206 m3 2
FEWIERLT TSR 060 m X 0226 m = 0.68 m3 1
BWIERLT FET 060 m X 0290 m = 087 m3 1
BRIaET = 1.09 m3 1
TRERET t=10cm RC-30 060 m X 50 m = 300 m2 3
FRERET t=8cm M-30 060 m X 50 m = 300 m2 3
RAsEHET t=3cm FHFL 060 m X 50 m = 3.00 m2 3
AEIBAsTHETL (AAET) t=4cm ER 080 m X 50 m = 400 m2 4
AsEiZERR Ui T t=4cm 200 m X 4 % = 800 m 8
AsEREEhRBER T t=4cm 080 m X 50 m = 400 m2 4
RAsEHEE R BT t=3cm 060 m X 50 m = 300 m2 3
AsTREEFRIEN - 5 T 1E % (km) 025 m3 0.3




R [ME HETKERER]

No.7
iz B FR g HAL | BUME | EEHE & &

BEKEMZ L |HPPE(EFZ Ot/ ZEE)L=5.00m $50 ¥ 5

HPPE(EE&) L=5.00m ® 50 x 2

EREAANBBE (PxV)22° 1/2| ¢50(P) % ¢50(V)| & 1

BRI —k W=150S m 305 30.5m#E%
HOHBBEI 650 | FRE LR ¢ 50 = 1

BhlHVryrRUER) 17 @50 & 2 XKREFmMLLE

o= H=600 #H 1
HRkUIBT YRV KE GRUER) $50% 20 & 1

ISRTaqAk ® 20 1l 1

Hiv 4y ¢ 20 1l 1

HiT/LAR ®20 & 2

HiVP  L=4.0m ®20 x 1 TR m x 14)

BRI —k W=150S m 05 0.5m#AE%(0.5m x 144)




FBHR [(ME HETKERR]

No.8
BRIRB B FR & B | Z0HE | EEH=E & &

EEKEMZL |[RITFLUOERERT ®50 m 30.5

RUIFLUOERFI (REES) $50 1OMF [ O 5

RUTFLUEYET ® 50 | 2

AN=HIBFT GRYER) ®50 a 2

AN=HIBFT (EEER) ®50 = 1

ERRI—k m 305

BKEERT HKERE H 0.02 30.5m/2,000H =0.015H
HYIFRETL 950 |[ELIFRET ®50 £ 1

fHERLAAT ®50 O 2

RUIFLUEHFT ®50 | 2

FEHET H=600 #H 1

BHERE ® 1
wKUET YRILDKEFRELGRUER) $50% 20 & 1

fHERLAAT @20 O 1

E-—ILEMERT ®20 m 1 1M m x 14)

TSH#FT @20 A 6

ERR—K m 0.5 0.5m#AE%(0.5m x 144)




T T # = No.9
£ L BoO® H B 4 = RETHME
mE BT KRR $50
BoKEMET |HWEKIET H=600 vlQ) 060 m X 0723 m 305 m = 1323 m3 10
HHIERLT TSR valQ) 060 m X 0263 m 305 m = 481 m3 10
BALECSR) = 481 m3 10
HHIERLT FET valQ) 060 m X 0290 m 305 m = 531 ma3 10
B NET E R E = (km) = 7.34 m3 10
BERETOSH = 7.34 m3 10
TERET t=10cm RC-30 060 m X 305 m = 1830 m2 18
TERET t=8cm M-30 060 m X 305 m = 18.30 m2 18
RAsEHEE T t=3cm FEAL 060 m X 305 m = 18.30 m2 18
AEIHASTHET (AAET) t=4cm ok 1 080 m X 305 m = 2440 m2 24
AstEiZE R UIBT T t=4cm 305 m X 4 % = 12200 m 122
AsTHEEhRBERE T t=4cm 080 m X 305 m = 2440 m2 24
R AsEH = MR B T t=3cm 060 m X 305 m = 18.30 m2 18
AsTRZEFREW -0 T E % (km) = 153 m3 2
HBKEMRT |HMWMKET H=600 060 m X 0.686 m 05 m = 021 m3 1
HHIERLT TSR 060 m X 0226 m 05 m = 0.07 m3 1
BEWIERLT FE+ 060 m X 0290 m 05 m = 0.09 m3 1
R AET = 0.11 m3 1
TERET t=10cm RC-30 060 m X 05 m = 030 m2 1
FERET t=8cm M-30 060 m X 05 m = 030 m2 1
RAsEHEE T t=3cm FEAL 060 m X 05 m = 030 m2 1
AEIHASTHET (AAET) t=4cm ok 1 080 m X 05 m = 040 m2 2
AsEHIERR UM T t=4cm 050 m X 4 % = 200 m 8
AsTRZEhRBERRE T t=4cm 080 m X 05 m = 040 m?2 2
R AsEf 2= IR B T t=3cm 060 m X 05 m = 030 m2 1
AsTRZE R B - 0 T TE k& (km) = 0.03 m3 0.1




HH® [ME HETKRR]

No.10
BRIRB B FR & B | Z0HE | EEH=E & &
Bo/KEMHZ T |HPPE(EFROftHZEE)L=5.00m ®50 p:N 1
HPPE(IEEZ&) L=5.00m ® 50 x 1
AHEEGR)ER) ¢ 50 X 45° 1@ 3
EREERAHNTHEPXV) $50(P)x p50(V)| & 1
PVA%LIaAUh @ 50(P)x p40(V)| 1& 1
BRS—bk W=150S m 10.9




FBHR [(ME HETKERR]

No.11

BRIRB B FR & B | Z0HE | EEH=E & &
BEKEHRHZL |RUIFLUEREKRTL @50 m 10.9
RUIFLUOERFI (REES) $50 1O0#F | O 1
RUTFLUEYET ® 50 A 2
AN=HIBFT GRYER) ®50 A 8
AN=HIBFT (EEER) ®50 A 2
ERRI—k m 10.9

BKEERT HKERE B 0.01 30.5m/2,000H =0.005H




T T # E X No.12
£ %fr\ BHO® # B 4 = HEtHE
Tl KEBR ®50

BlKEMETL B 47 T H=950 &'JT'EG)@ 060 m 1073 m 34 m = 219 m3
H=1300 BREQ 060 m X 1423 m 75 m = 6.40 m3

&Et = 859 m3 10

BWIERLT VSR | HEOO 060 m X 0263 m 109 m = 172 m3 10

BALCIR) ErE®. @ = 1.72 m3 10
R T H4E+ ErEOS 060 m X 0.640 m 34 m = 131 m3
FE+ BrEQ@ 060 m X 0990 m 75 m = 446 m3

&t = 576 m3 10

HRLIET EWE = km) = 219 m3 10

BERREELOSH = 219 m3 10

TERET t=10cm RC-30 060 m X 109 m = 6.54 m2 7

LERAET t=8cm M-30 060 m X 87 m = 522 m2 5

RAsEHZET t=3cm FHHL 060 m X 87 m = 522 m?2 5

AEIBAsTHET (N AHETL) t=4cm BRI 080 m X 87 m = 6.96 m2 7

AsEHZERR U T t=4cm 87 m X 4 % = 3480 m 35

AsTHEERRBER: T t=4cm 080 m X 87 m = 6.96 m2 7
{RAsEHIE IR RS T t=3cm 060 m X 87 m = 522 m2

AsTREEFHER- 05 T E R E (km) = 044 m3 0.4




50 HPPE Fd /K %

b E K Beig  TE R
UEE (m) DIHFNT]
BOEM B R |0 ERE S | I %
&
-1 Z.-1 Z.-2 z.-3 .4 (OO (m)
1
(=g
HPPE
ER= 50
0 g oE
%
z-1 z.-2 Z-3 4 Z-5 HEE|  5.000
HPPE 50 5. 000 2.100 1. 500 0. 500 0. 500 4. 600 0. 400 4
HPPE 50 5. 000 4. 000 0. 500 0. 500 5. 000 2 s AT
HPPE 50 5. 000 2. 000 3. 000 5. 000 1 | E e
3 15. 000 8. 100 5. 000 1. 000 0. 500 14. 600 0. 400 7
15. 000 8. 100 5. 000 1. 000 0. 500 14. 600 0. 400




¢ 50 HPPE Fd /K & e B % RR-2
UEE (m) DIxNF
BOEM B R |0 ERE S | I %
&
-1 Z.-1 Z.-2 z.-3 Z—4 O-® (m)
1
ERE
HPPE
0 g oE
5
z-1 -2 Z-3 Z—4 Z.-5 B = 50
HPPE 50 5. 000 5. 000 5. 000
HPPE 50 5. 000 5. 000 5. 000 HuhE| 5.000
HPPE 50 5. 000 5. 000 5. 000
HPPE 50 5. 000 3. 500 1. 000 0. 500 5. 000 2
5 20. 000 18. 500 1. 000 0. 500 20. 000 2
20. 000 18. 500 1. 000 0. 500 20. 000 2




650 HPPE Mt A & b & & B T RN KRR

UEE (m) DHNS
& (m) GIwr T
=] Poris Vo P
5 OF M 'O ERE 2 g . i &
5]
-1 Z.-1 Z.-2 z.-3 .4 (OO (m)
1
ERE
HPPE
0 g oE
z
z-1 -2 z.-3 Z.—4 Z.-5 R = 50
HPPE 50 5. 000 5. 000 5. 000
HPPE 50 5. 000 0. 500 0. 900 1. 400 3. 600 2 Mg e te HihE|  5.000
i 10. 000 5. 500 0. 900 6. 400 3. 600 2

10. 000 5. 500 0.900 6. 400 3. 600 2



650 HPPE @ /K %& B R Beid T KRR
YEE  (m) DHAS)
= Pirs Pirs A o ‘,/:& t * I
5 OB W B R |0 ERE - | AR o W=
Fi-1 Z.-1 ) Z.-3 2.4 (OO ()
1
% T
HPPE
CIE
-1 42 43 44 -5 B = 50
HPPE 50 5. 000 3. 000 1. 200 0. 800 5. 000 2
HhE|  5.000
B 5. 000 3. 000 1. 200 0. 800 5. 000 2
5. 000 3. 000 1. 200 0. 800 5. 000 2




$50 HiVP fd K & b B F B N KRR
UEE (m) DIHFNT]
o p - & (m) Blkr T
5 OF M B R |I0OERE z u . i &
Z.-1 Z.-2 Z.-3 Z.—4 Z.-5 (OO (m)
1 HiVP 50 4. 000 0. 700 0. 700 0. 700 2.100 1. 900 1
(=g
HiVP
B = 50
HEE|  4.000
i 4. 000 0. 700 0. 700 0. 700 2.100 0. 500
4. 000 0. 700 0. 700 0. 700 2.100 1. 900




R4 - A

KRR -2

$50 HiVP fd K & b B F
UEE (m) DIHFNT]
7% (m) Gkr T
=] Poris Vo P
5 OF M 'O ERE z u . i &
5]
Z.-1 Z.-2 Z.-3 Z.—4 Z.-5 (OO (m)
1 HiVP 50 4. 000 1. 000 0. 500 0. 500 0. 500 2.500 1. 500 1
(=g
HiVP
= 50
HEE|  4.000
i 4. 000 1. 000 0. 500 0. 500 0. 500 2.500 0. 500
4. 000 1. 000 0. 500 0. 500 0. 500 2.500 1. 500




$40 HiVP fd K & W B F B TN R KR
UEE (m) DIHFNT]
7% (m) Gkr T
=] Poris Vo P
5 OF M 'O ERE z u . i &
5]
Z.-1 Z.-2 Z.-3 Z.—4 Z.-5 (OO (m)
1 HiVP 40 4. 000 2.500 0. 500 0. 500 3. 500 0. 500 1
(=g
2 HiVP 40 4. 000 1.000 1.000 3. 000 HiVP
B = 40
HEE|  4.000
i 8. 000 3. 500 0. 500 0. 500 4. 500 3. 500
8. 000 3. 500 0. 500 0. 500 4. 500 3. 500




R4 - A

KRR -2

025 HiVP fd K & O] & &
UEE (m) DHNS
7% (m) Gkr T
=] Poris Vo P
5 OF M 'O ERE z u . i &
5]
Z.-1 Z.-2 Z.-3 Z.—4 Z.-5 (OO (m)
1 HiVP 25 4. 000 0. 500 0. 500 0. 500 0. 500 2. 000 2. 000 1
ERE
HiVP
= 25
HEE|  4.000
i 4. 000 0. 500 0. 500 0. 500 0. 500 2. 000 2. 000
4. 000 0. 500 0. 500 0. 500 0. 500 2. 000 2. 000




